[1D:9:9:9:9:9:0:9.9:9:9:9:0:9.9.9.9:0:0:9.9.9.9:9:0:0:9.0.9.9:9:0:0.9.9.9:0:0:9.:0.9.0.9:0:0:0.0.9.0:9:0:0.0.9.9:0:0:0:0.9.0.0:0:0:0.0.9.0:9:0:0:0.0.9:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXXM4L /2-6400102-00001XX
Set02 for No.9363

NoOI =[n(U)=49,n(4)=20,n(B)=19,n(4 N B)=5]
NoOZz[ n(U) =50 n(4)=25 n(B) =24 n(C)=26 }
n(d N B)=9 n4d N C)=15 n(B n C)=13 n(intersect(4,B,C))=5
No03=[N=80,F=42,V=34,X=19]
No04=[N=108,E=49, M=53,B=57,X=12,Y=27,Z=14]
No05=[N=40,G=22,W=22,R=17,4=6,B=9,C=10,D=2]
No06=[n(U)=48,n(4 N B)=9,(n(B N A)=n(4 N B))=13]
No07=[N=35,4=14,B=19,C=14,D=3,E=7,F=3]
No08=[A=38,B=18,C=38,D=19, E=21,F=37,G=11]
No09 =[N =600, A = 195, B=1335, C =297, AB =95, BC = 145, AC=95, P = 5]

NolO=[N=660,5=20,4=330,8=90,C=110,D =150, £=300]
POO GGG 00000000 GGG G000 0:0:00:00.0:0:0:0.0:0:0:0:0:0:0:6:0::0:0:0:0:6:4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM4E/2-6400102-00002XX
Set02 for No.9435

NoOI =[n(U)=32,n(4)=18,n(B)=21,n(4 N B)=13]
N002=[ n(U) =39 n(4)=14 n(B)=20 n(C)=21 }
n(d N B)=7 n(dn C)=8 n(B N C)=11 n(intersect(4,B,C))=2
No03=[N=64, F=23,V=37,X=11]
No04=[N=97,E=39,M=49,B=43, X=9,Y=18,Z=10]
No05=[N=46,G=26,W=29,R=32,4=9,B=1,C=18,D=10]
No06=[n(U)=30,n(4 N B)=9,(n(B N A)=n(4d N B))=5]
No07=[N=35,4=22,B=16,C=18,D=9,E=12, F=2]
No08=[A4=20,B=5,C=24D=13,E=11,F=32,G=1]
No09 =[N =600, 4=261,B=331,C=295 AB=81,BC=141,AC=101,P=1]

NolO=[N=630,5=100,4 =360, 8=210,C=250,D=200, E=190]
PO GO GOV 0:00:0 00000000 :00:00:0. 000 006:06:0::0.0:00:0. 0.0 0:06:0:6:0:0:0:0:0.0:0.0:0:0:6:0:6:06:0:0:0:0:0.0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXXKXKXXMA /2-6400102-00003XX
Set02 for No.9484

NoOI =[n(U)=37,n(4)=14,n(B)=17,n(4 N B)=17]
NoOZ:[ n(U) =40 n(A4)=25 n(B) =21 n(C)=15 }
n(d N B)=14 nd n C)=11 n(B n C)=10 n(intersect(4, B, C))=6
No03=[N=72,F=32,V=42,X=16]
No04=[N=102,E=45,M=52, B=54,X=10,Y=28,Z=10]
No05=[N=38,G=23,W=20,R=24,4=10,B=1,C=15D=8]
No06=[n(U)=35,n(4 N B)=16,(n(B N A)=n(4 N B))=5]
No07=[N=35,4=21,B=12,C=21,D=11,E=3, F=8]
No08=[A=20,B=8,C=27,D=6,E=15F=27,G=5]
No09 =[N =600, A =305, B =225, C=295, AB=125,BC=75,AC=175,P=10]

NolO=[N=620,5=70,4=320,8=160,C=280,D =120, E=350]
X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXKXXKXXKXXKXXKXKXKXKK




):0:0.9:9:9.9.9,9:9.0.9.9.9.9.9,9:0.:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXXXKXME /2-6400102-00004XX
Set02 for No.9503

NoOI =[n(U)=36,n(4)=18,n(B)=14,n(4 N B)=6]
n(U) =45 n(4)=25 n(B) =22 n(C)=26 }
n(4d N B)=18 n(d n C)=16 n(B N C)=12 n(intersect(4,B,C))=9
No03=[N=71,F=38, V=49, X=27]

No04=[N=116,E=60, M=67,B=76,X=0,Y=35,Z=17]

No05=[N=40,G=26,W=20,R=27,4=6,B=6,C=12,D=10]

No06=[n(U)=43,n(4 N B)=17,(n(B N 4)=n(4 N B))=10]
No07=[N=36,4=23,B=24,C=22,D=16,E=11, F=14]

No08=[A=22,B=12,C=23,D=5,E=6,F=17,G=1]
No09 =[N = 600, A =235, B=1325, C =305, AB =137, BC=177,AC=77, P = 8]

NolO0=[N=520,5=120,4=350,8=210,C=80,D =160, £ =60
):9:9:9.9:0:0:0:9.9.9.9.9:9.9.9.0.0.:0:9.9.9.9.9.9.9.9.0.0:0:0.:9.9.9.9.9.9.9.0.0.0:0.:9.9.9.9.9.0.0.0.0.0:0:9.9.9.9.9.9.9.0.0.0:0:0.9.9.9.9.0.0.0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXMA/2-6400102-00005XX

Set02 for No.9630

NoOI =[n(U)=43,n(4)=23,n(B)=17,n(4 N B)=10]
n(U) =43 n(4)=23 n(B)=12 n(C)=24 }
(AN B)y=9 ndn C)=12 n(B n C)=8 n(intersect(4,B,C))=06
No03=[N=67,F=39,V=25X=12]
No04=[N=120,E=50,M=68,B=61,X=0,Y=31,Z=16]
No05=[N=37,G=13,W=28,R=22,4=5,B=9,C=9,D=7]
No06=[n(U)=49,n(4 N B)=10,(n(B N 4)=n(4 n B))=11]
No07=[N=40,4=14,B=21,C=28,D=9, E=4, F=12]
No08=[A=45,B=22,C=32,D=22,E=17,F=40,G=11]
No09 =[N = 600, A =243, B=303, C =255, AB=115, BC=125,AC=75,P=1]

Nol0=[N=490,5=130,4=170,B=70,C=40,D =140, E=160]
)19,9,9:9:9.9.9.0:0:0:9:9.9.9:9.9.9.9.9.0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9:9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0.0:0:9:0.9,9.9.9.9.9.0.0:0:9.9.9.9.9.9.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXMEL /2-6400102-00006XX

Set02 for No.9647

NoOI =[n(U)=49,n(4)=27,n(B)=26,n(4 N B)=14]
n(U) = 44 n(4) =24 n(B)=23 n(C)=23 }
n(d N B)=17 n(4d n C)=10 n(B N C)=15 n(intersect(4, B, C))=10
No03=[N=86, F=44, V=41, X=26]
No04=[N=139,E=72,M=69,B=57,X=22,Y=27,Z=18]
No05=[N=37,G=18, W=17,R=26,4=10,B=5,C=8,D=3]
No06=[n(U)=45,n(4 N B)=5,(n(B N A)=n(4 N B))=16]
No07=[N=52,4=24,B=32,C=26,D=6,E=14, F=14]
No08=[A=35,B=16,C=33,D=11,E=15,F=27,G=4]
No09 =[N=500,4=249, B=199, C =261, AB =43, BC=103, AC =123, P =4]

NolO=[N=1790,S8=140,4 =330, B=160, C=190,D =240, £ =280]
X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXKXKXXKXXKKKKXKXKXKXKK

No02 :[

No02 = [
n

No02 =[
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXXME /2-6400102-00007XX
Set02 for No.9779

NoOI =[n(U)=40,n(4)=19,n(B)=20,n(4 N B)=8]
NoOZz[ n(U) =31 n(4)=11 n(B)=11 n(C)=11 }
n(d N B)=2 n4dn C)=1 n(B N C)=8 n(intersect(4,B,C))=0
No03=[N=73,F=35,V=42,X=20]
No04=[N=104, E=51,M=69,B=43,X=8,Y=7,Z=19]
No05=[N=50,G=31,W=30,R=26,4=5,B=10,C=16,D=9]
No06=[n(U)=43,n(4 N B)=17,(n(B N A)=n(4 N B))=5]
No07=[N=48,4=27,B=22,C=22,D=9,E=10, F=6]
No08=[A=34,B=23,C=37,D=17,E=15,F=24,G=12]
No09 =[N = 600, A =265, B=1375, C =369, AB =215, BC =245, AC = 135, P = 20]

NolO=[N=730,5=10,4=460, B=190, C=300,D =250, E=360]
POO GGG 00000000 GGG G000 0:0:00:00.0:0:0:0.0:0:0:0:0:0:0:6:0::0:0:0:0:6:4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM4E/2-6400102-00008XX
Set02 for No.10293

NoOI =[n(U)=35,n(4)=20,n(B)=18,n(4 N B)=9]
NOO2:[ n(U) =40 n(4)=17 n(B)=18 n(C)=11 }
n(d N B)=8 n4d N C)=4 n(B N C)=4 n(intersect(4,B,C))=2
No03=[N=61,F=33,V=31,X=14]
No04=[N=117,E=59, M=58, B=50,X=17,Y=27,Z=16]
No05=[N=40,G=19,W=25,R=25,4=3,B=9,C=7,D=3]
No06=[n(U)=56,n(4 N B)=15,(n(B N A)=n(4 N B))=12]
No07=[N=40,4=21,B=19,C=26,D=16, E=9, F=8]
No08=[A=23,B=3,C=17,D=10,E=8,F=24,G=1]
No09 =[N =500, 4 =210, B=250, C =180, 4B =70, BC =120, AC =70, P=2]

NolO0=[N=670,S5=130,4=320,8=90,C=160,D =90, E=250]
PO GO GOV 0:00:0 00000000 :00:00:0. 000 006:06:0::0.0:00:0. 0.0 0:06:0:6:0:0:0:0:0.0:0.0:0:0:6:0:6:06:0:0:0:0:0.0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXKXKXXMA /2-6400102-00009XX
Set02 for No.10311

NoOI =[n(U)=28,n(4)=16,n(B)=13,n(4 N B)=7]
NoOZ:[ n(U) =49 n(4)=15 n(B) =24 n(C)=22 }
n(d N B)y=7 n(4dn C)=5 n(Bn C)=12 n(intersect(4,B,C))=4
No03 =[N=85F=50,V=40,X=27]
No04=[N=139,E=78, M=68, B=72,X=19,Y=38,Z=22]
No05=[N=37,G=16,W=29,R=17,4=4,B=10,C=12,D=5]
No06=[n(U)=47,n(4 N B)=17,(n(B N A)=n(4 n B))=11]
No07=[N=40,4=25B=18,C=23,D=11,E=12, F=10]
No08=[A=23,B=15,C=31,D=15,E=11,F=30,G=17]
No09 =[N =500,4=289,B=179, C=291, AB =143, BC=93,AC=173,P=12]

Nol0=[N=2870,5=130,4 =480, B=220,C=310,D =270, E=290]
X [Page = 0003] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXKXXKXXKKKKXKXKXKXKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXMA /2-6400102-00010XX
Set02 for No.10438

NoOI =[n(U)=41,n(4)=21,n(B)=28,n(4 N B)=13]
n(U) =30 n(4)=15 n(B) =14 n(C)=19 }

n(d N B)=4 n(4d N C)=11 n(B n C)=11 n(intersect(4,B,C))=3

No03=[N=92, F=49, V=45, X=24]

No04=[N=103,E=71,M=58,B=47,X=18,Y=20,Z=20]

No0O5=[N=44,G=21,W=27,R=20,4=8,B=7,C=12,D=3]

No06=[n(U)=31,n(4 N B)=5,(n(B N A)=n(4 N B))=5]

No07=[N=39,4=19,B=25,C=18,D=7,E=11, F=8]

No08=[A=33,B=18,C=29,D=19, E=20,F=29,G=10]

No09 =[N =500, A =333, B=263, C=227,AB=201, BC =121, AC =201, P = 24]

Nol0=[N=720,5=70,4=380,B=170, C=230,D =280, £=260]
):9:9:9.9:0:0:0:9.9.9.9.9:9.9.9.0.0.:0:9.9.9.9.9.9.9.9.0.0:0:0.:9.9.9.9.9.9.9.0.0.0:0.:9.9.9.9.9.0.0.0.0.0:0:9.9.9.9.9.9.9.0.0.0:0:0.9.9.9.9.0.0.0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXMA/2-6400102-00011XX

Set02 for No.11352

NoOI =[n(U)=54,n(4)=25,n(B)=30,n(4 N B)=15]
n(U) =47 n(4)=20 n(B)=23 n(C)=19 }
nAd N B)=9 nd4d N C)=5 n(B N C)=7 n(intersect(4,B,C))=3
No03=[N=75,F=34,V=31,X=11]
No04=[N=120,E=58, M=64, B=55X=12,Y=31,Z=21]
No05=[N=38,G=20,W=28R=26,4=5B=6,C=15D=9]
No06=[n(U)=49,n(4 N B)=10,(n(B N 4)=n(4 n B))=11]
No07=[N=25,4=15,B=16,C=17,D=8,E=6, F=13]
No08=[A=24,B=12,C=27,D=19,E=12, F=28,G=9]
No09 =[N =600, A =289, B=279, C =333, AB =163, BC =143, 4C=163, P=10]

NolO=[N=1780,5=20,4=480, B=200, C=200,D =180, E=400]
)19,9,9:9:9.9.9.0:0:0:9:9.9.9:9.9.9.9.9.0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9:9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0.0:0:9:0.9,9.9.9.9.9.0.0:0:9.9.9.9.9.9.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXME /2-6400102-00012XX

Set02 for No.11778

NoOI =[n(U)=34,n(4)=15,n(B)=18,n(4 N B)=6]
n(U) =40 n(A4)=20 n(B) =31 n(C)=18 }
(AN B)=13 n(4dn C)=9 n(B N C)=15 n(intersect(4, B, C))=6
No03=[N=62, F=40, V=31,X=20]
No04=[N=152,E=85,M=68,B=71,X=23,Y=42,Z=21]
No05=[N=40,G=18, W=17,R=18,4=9,B=8,C=4,D=0]
No06=[n(U)=41,n(4 N B)=5,(n(B N A)=n(4 N B))=12]
No07=[N=32,4=13,B=22,C=15,D=6,E=7, F=8]
No08=[A=36,B=15,C=33,D=24, E=23, F=40,G=12]
No09 =[N =600, 4 =305, B =345, C =265, AB =135, BC =175, AC =155, P = 15]

Nol0=[N=630,5=90,4=270,B=40,C=160,D =130, £=290]
X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXKXKXKXKXKXKKKXKXKXKXKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXXKXKXKXKXMA/2-6400102-00013XX
Set02 for No.12403

NoOI =[n(U)=37,n(4)=13,n(B)=16,n(4 N B)=17]
n(U) =40 n(4)=19 n(B)=19 n(C)=21 }
n(d4d N B)=8 n(4d N C)=9 n(B N C)=16 n(intersect(4,B,C))=6
No03=[N=82, F=41,V=37,X=19]
No04=[N=103,E=60, M=61,B=56,X=9,Y=26,Z=19]
No05=[N=44,G=25,W=26,R=24,4=4,B=10,C=11,D =8]
No06=[n(U)=55n(4 N B)=8,(n(B N A)=n(4 N B))=16]
No07=[N=31,4=17,B=21,C=20,D=8,E=13, F=12]
No08=[A=35,B=18,C=36,D=14,E=18,F=37,G=6]
No09 =[N =500, A =230, B= 160, C =190, AB = 50, BC = 70, AC = 90, P = 8]

Nol0=[N=2840,5=100,4 =530, B=290, C=250,D =250, E=250]
):9:9:9.9:0:0:0:9.9.9.9.9:9.9.9.0.0.:0:9.9.9.9.9.9.9.9.0.0:0:0.:9.9.9.9.9.9.9.0.0.0:0.:9.9.9.9.9.0.0.0.0.0:0:9.9.9.9.9.9.9.0.0.0:0:0.9.9.9.9.0.0.0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXMA/2-6400102-00014XX

Set02 for No.12456

No0OI =[n(U)=50,n(4)=24,n(B)=27,n(4 N B)=12]
n(U) =37 n(4)=18 n(B) =24 n(C)=14 }
nd n B)=8 nd4d N C)=8 n(B N C)=9 n(intersect(4,B,C))=3
No03=[N=65F=39, V=33, X=21]
No04=[N=138,E=59, M=72,B=61,X=20,Y=31,Z=22]
NoO5=[N=44,G=27,W=22,R=22,4=6,B=6,C=11,D=3]
No06=[n(U)=50,n(4 N B)=13,(n(B N 4)=n(4 N B))=11]
No07=[N=37,4=22,B=12,C=23,D=11,E=6,F=5]
No08=[A=43,B=21,C=32,D=19,E=14, F=30,G=9]
No09 =[N =400, 4 =139, B=179, C =181, AB=75,BC =55, AC=65P=2]

Nol0=[N=750,8=40,4 =390, B=240, C=220,D =210, E=270]
PO GO GOV 0:00:0 00000000 :00:00:0. 000 006:06:0::0.0:00:0. 0.0 0:06:0:6:0:0:0:0:0.0:0.0:0:0:6:0:6:06:0:0:0:0:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXKKKKXKMA/2-6400102-00015XX

Set02 for No.12545
NoOI =[n(U)=36,n(4)=15,n(B)=18,n(4 N B)=17]

n(U) =39 n(4)=22 n(B) =12 n(C) =23 }
(AN B)y=3 n(4dn C)=12 n(B N C)=10 n(intersect(4, B, C))=2

No03=[N=86,F=42,V=39,X=16]
No04=[N=120,E=48, M=74,B=77,X=0,Y=33,Z=13]
No05=[N=45,G=28, W=28 R=26,4=7,B=1,C=18,D=28]
No06=[n(U)=34,n(4 N B)=14,(n(B N A)=n(4 N B))=5]
No07=[N=46,4=22,B=18,C=32,D=13,E=4,F=12]
No08=[A=35,B=19,C=39,D=13,E=18,F=36,G=7]

No09 =[N =600, A =344, B=204, C =366, AB =122, BC =142, AC=212, P = 16]

Nol0=[N=2890,5=150,4=380,B8=170,C=200,D =270, E=340]
X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXKXXXKXXKXXKKKKXKXKXKXKK
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Set02 for No.12583

NoOI =[n(U)=35,n(4)=20,n(B)=16,n(4 N B)=6]

n(U) =31 n(4)=11 n(B) =21 n(C) =20 }

(AN B)=10 n(4dn C)=7 n(B n C)=13 n(intersect(4,B,C))=7

No03=[N=90, F=52, V=49, X=25]
No04=[N=109,E=60, M=57,B=56,X=18,Y=21,Z=13]
No05=[N=38,G=22,W=22,R=18,4=0,B=8,C=6,D=3]
No06=[n(U)=55n(4 N B)=16,(n(B N A)=n(4 N B))=11]

No07=[N=36,4=24,B=13,C=19,D=11,E=9,F=5]
No08=[A4=25,B=6,C=15,D=10,E=12, F=22,G=3]

No09 =[N =500, A =285, B= 145, C =225, AB = 85, BC =35, AC = 155, P = 4]

NolO0=[N=540,5=60,4=320,B=140, C=150,D =290, E=110]
):9:9:9.9:0:0:0:9.9.9.9.9:9.9.9.0.0.:0:9.9.9.9.9.9.9.9.0.0:0:0.:9.9.9.9.9.9.9.0.0.0:0.:9.9.9.9.9.0.0.0.0.0:0:9.9.9.9.9.9.9.0.0.0:0:0.9.9.9.9.0.0.0.0.0.0.¢
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Set02 for No.12589

No0OI =[n(U)=56,n(4)=30,n(B)=27,n(4 N B)=15]
n(U) =33 n(4)=19 n(B)=19 n(C)=15 }
n(d N B)=10 n(4d n C)=5 n(B n C)=8 n(intersect(4,B,C))=3
No03=[N=80,F=42, V=43, X=23]
No04=[N=111,E=70,M=41,B=50,X=23,Y=30,Z=13]
No05=[N=34,G=23,W=19,R=23,4=3,B=1,C=11,D=6]
No06=[n(U)=42,n(4 N B)=14,(n(B N A)=n(4 N B))=7]
No07=[N=36,4=28,B=15,C=17,D=14,E=10, F=4]
No08=[A=31,B=10,C=17,D=16,E=10,F=25,G=6]
No09 =[N =500, 4 =185, B=255,C=315,AB=35,BC=135,4C=125P=6]

NolO=[N=540,5=40,4=240,B=70,C=190,D =80, E=340]
)19,9,9:9:9.9.9.0:0:0:9:9.9.9:9.9.9.9.9.0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9:9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0.0:0:9:0.9,9.9.9.9.9.0.0:0:9.9.9.9.9.9.0.0:¢
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Set02 for No.12596

NoOI =[n(U)=50,n(4)=29,n(B)=26,n(4 N B)=15]
n(U) =43 n(4)=16 n(B) =23 n(C)=29 }
n(d N B)=10 n(4d n C)=12 n(B n C)=16 n(intersect(4,B,C))=38
No03=[N=72,F=35V=34,X=16]
No04=[N=128,E=59,M=70,B=73,X=7,Y=33,Z=15]
No05=[N=37,G=20,W=25R=19,4=3,B=6,C=11,D=6]
No06=[n(U)=43,n(4 N B)=13,(n(B N 4)=n(4 N B))=9]
No07=[N=29,4=20,B=25,C=17,D=10,E=17, F=16]
No08=[A=24,B=14,C=33,D=10,E=18, F=21,G=10]
No09 =[N=700,4 =419, B=1339, C =360, AB =189, BC =189, AC =229, P=17]

NolO=[N=1790,5=70,4=340,8=200,C=170,D =110, £ =330]
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Set02 for No.12620
No0I =[n(U)=44,n(4)=20,n(B)=26,n(4 N B)=15]

N 02—[ n(U)=37  n(4)=10 n(B)=21 n(C)=16 }
"7 7ln4 n B)=8 n(4 N C)=3 n(B N C)=9 n(intersect(4, B, C))=2

No03=[N=76,F=35V=37,X=11]
No04=[N=80,E=39, M=38,B=26,X=13,Y=8,Z=9]
No05=[N=33,G=25,W=21,R=18,4=0,B=6,C=13,D=8]
No06=[n(U)=62,n(4 N B)=14,(n(B N A)=n(4 N B))=17]
No07=[N=24,4=9,B=13,C=20,D=5E=3,F=12]
No08=[4=31,B=13,C=24,D=18,E=18,F=35G=10]

No09 =[N =400, 4 = 170, B =150, C= 170, 4B = 110, BC = 60, AC = 60, P = 10]

Nol0=[N=750,5§=110,4 =410, B=190, C=250,D =290, £=240]
POO GGG 00000000 GGG G000 0:0:00:00.0:0:0:0.0:0:0:0:0:0:0:6:0::0:0:0:0:6:4
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Set02 for No.12651
NoOI =[n(U)=24,n(4)=11,n(B)=13,n(4 N B)=6]
N002=[ n(U) =51 n(A4)=24 n(B)=32 n(C) =28 }
n(d N B)=13 n(4d n C)=12 n(B n C)=18 n(intersect(4,B,C))=38
No03=[N=85F=40,V=36,X=13]
No04=[N=104, E=45 M=49, B=38, X=17,Y=16,Z=13]
No05=[N=38,G=33,W=21,R=24,4=2,B=0,C=18,D=9]
No06=[n(U)=44,n(4 N B)=14,(n(B N A)=n(4 N B))=8]
No07=[N=29,4=15,B=13,C=15,D=4,E=3,F=9]
No08=[A4=23,B=13,C=22,D=18,E=15F=29,G=11]
No09 =[N =700, 4 =322, B=2382, C =443, AB = 150, BC = 240, AC =190, P = 17]

Nol0O=[N=660,S=120,4=300,B8=70,C=150,D =120, E£=230]
PO GO GOV 0:00:0 00000000 :00:00:0. 000 006:06:0::0.0:00:0. 0.0 0:06:0:6:0:0:0:0:0.0:0.0:0:0:6:0:6:06:0:0:0:0:0.0:¢
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Set02 for No.12675
NoOI =[n(U)=28,n(4)=15,n(B)=16,n(4 N B)=38]
N002=[ n(U) =51 n(A4)=23 n(B) =24 n(C) =29 }
n(d N B)=9 n(4dn C)=15 n(B N C)=13 n(intersect(4, B, C))=7
No03=[N=58, F=35 V=29, X=18]
No04=[N=110,E=71,M=48, B=44, X=23,Y=16,Z=13]
No05=[N=42,G=29,W=20,R=26,4=7,B=4,C=14,D=7]
No06=[n(U)=60,n(4 N B)=14,(n(B N 4)=n(4 N B))=16]
No07=[N=27,4=19,B=14,C=17,D=12,E=11, F=6]
No08=[A=32,B=17,C=30,D=22,E=17, F=40,G=11]
No09 =[N =600, 4 =358, B=318, C=310, 4B = 190, BC = 160, AC = 120, P=11]

NolO0=[N=610,5=70,4=270,B=60,C=140,D =130, £=340]
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Set02 for No.12684

NoOI =[n(U)=38,n(4)=21,n(B)=16,n(4 N B)=8]
n(U) =35 n(A4) =20 n(B)=18 n(C)=17 }
n(d4d N B)=7 n(4d N C)=8 n(B N C)=12 n(intersect(4,B,C))=4
No03=[N=73,F=39, V=36, X=13]
No04=[N=131,E=72, M=75,B=68,X=13, Y=28,Z=18]
NoO5=[N=34,G=18, W=25,R=13,4=0,B=9,C=9,D=1]
No06=[n(U)=43,n(4 N B)=8,(n(B N A)=n(4 N B))=10]
No07=[N=29,4=13,B=15,C=22,D=8,E=3,F=10]
No08=[A=27,B=17,C=27,D=10,E=14,F=21,G=5]
No09 =[N =600, A =299, B=319, C =239, AB =115, BC =165, AC =115, P =8]

NolO0=[N=550,5=20,4=240,B=170,C=100,D =110, £=220]
):9:9:9.9:0:0:0:9.9.9.9.9:9.9.9.0.0.:0:9.9.9.9.9.9.9.9.0.0:0:0.:9.9.9.9.9.9.9.0.0.0:0.:9.9.9.9.9.0.0.0.0.0:0:9.9.9.9.9.9.9.0.0.0:0:0.9.9.9.9.0.0.0.0.0.0.¢
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Set02 for No.12693

NoOI =[n(U)=43,n(4)=23,n(B)=20,n(4 N B)=10]
n(U) =29 n(4)=11 n(B)=11 n(C) =13 }
n(d n B)y=6 n(4d N C)=7 n(BnNn C)=9 n(intersect(4,B,C))=6
No03=[N=69, F=22,V=35X=11]
No04=[N=114,E=61,M=67,B=54,X=16,Y=23,Z=17]
No05=[N=43,G=26,W=31,R=19,4=0,B=7,C=14,D=6]
No06=[n(U)=37,n(4 N B)=17,(n(B N A)=n(4 N B))=7]
No07=[N=36,4=15,B=22,C=17,D=6,E=8,F=6]
No08=[A=16,B=3,C=16,D=7,E=12,F=28,G=2]
No09 =[N =600,4=271,B=231,C=331,4B =87, BC=147, AC=137,P=10]

NolO=[N=1720,5=30,4=420, B=220, C=200,D =140, E=310]
)19,9,9:9:9.9.9.0:0:0:9:9.9.9:9.9.9.9.9.0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9:9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0.0:0:9:0.9,9.9.9.9.9.0.0:0:9.9.9.9.9.9.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXME /2-6400102-00024XX

Set02 for No.12705

NoOl =[n(U)=44,n(4)=22,n(B)=17,n(4 n B)=10]
n(U) =40 n(4)=12 n(B) =14 n(C) =23 }
n(d N B)y=6 n(4dn C)=7 n(B N C)=8 n(intersect(4, B, C))=2
No03=[N=75F=47,V=40,X=25]
No04=[N=107,E=42, M=50,B=47,X=22,Y=19,Z=7]
No05=[N=29,G=15,W=9,R=21,4=6,B=3,C=1,D=0]
No06=[n(U)=53,n(4 N B)=15,(n(B N 4)=n(4 N B))=12]
No07=[N=40,4=22,B=23,C=22,D=12,E=9,F=9]
No08=[A=15,B=12,C=20,D=11,E=14, F=24, G=8]
No09 =[N =800, 4 =359, B=399, C=373, 4B=177,BC =167, AC=147,P=17]

NolO=[N=420,5=60,4=220,B8=50,C=140,D =90, £ =200]
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Set02 for No.12708

NoOI =[n(U)=33,n(4)=21,n(B)=19,n(4 N B)=13]
NoOZz[ n(U) = 44 n(4)=23 n(B)=16 n(C)=24 }
n(d N B)=13 n(4dn C)=13 n(B N C)=9 n(intersect(4,B,C))=7
No03=[N=84, F=34,V=47,X=20]
No04=[N=87,E=27,M=32,B=44,X=12,Y=22,7Z=0]
No05=[N=41,G=25,W=24,R=22,4=9,B=6,C=17,D=8]
No06=[n(U)=34,n(4 N B)=14,(n(B N A)=n(4 N B))=6]
No07=[N=29,4=21,B=13,C=15,D=9,E=6,F=17]
No08=[A=23,B=17,C=24,D=17,E=15,F=23,G=12]
No09 =[N =500, 4 =189, B=259, C=271, AB =43, BC =133, AC =103, P=2]

NolO=[N=460,5=40,4=120,B=110,C=70,D =280, £=250]
POO GGG 00000000 GGG G000 0:0:00:00.0:0:0:0.0:0:0:0:0:0:0:6:0::0:0:0:0:6:4
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Set02 for No.12709

NoOI =[n(U)=38,n(4)=22,n(B)=23,n(4 N B)=12]
NOO2:[ n(U) = 44 n(4)=22 n(B)=18 n(C)=23 }
n(d n B)=10 n(4d n C)=7 n(B n C)=11 n(intersect(4,B,C))=4
No03=[N=83, F=40, V=42, X=24]
No04=[N=120,E=55M=62,B=49, X=17,Y=19, Z=13]
No05=[N=37,G=18, W=21,R=28,4=6,B=4,C=8,D=4]
No06=[n(U)=46,n(4 N B)=7,(n(B N A)=n(4 N B))=11]
No07=[N=38,4=20,B=24,C=22,D=9,E=12, F=12]
No08=[A=31,B=16,C=32,D=15,E=15F=29,G=8]
No09 =[N =500, 4 =269, B=229, C=151, 4B =153, BC=83,AC =43, P=4]

NolO=[N=770,8=150,4=250,B=130,C=170,D =210, E=250]
PO GO GOV 0:00:0 00000000 :00:00:0. 000 006:06:0::0.0:00:0. 0.0 0:06:0:6:0:0:0:0:0.0:0.0:0:0:6:0:6:06:0:0:0:0:0.0:¢
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Set02 for No.12718

NoOl =[n(U)=34,1n(4)=19,n(B)=20,n(4 N B)=11]
N002=[ n(U) =47 n(A4)=28 n(B) =25 n(C)=16 }
n(d N B)=18 n(4d n C)=9 n(B N C)=10 n(intersect(4, B, C)) =38
No03=[N=65F=31,V=29,X=13]
No04=[N=125,E=45M=72,B=56,X=14,Y=19, Z=15]
No05=[N=43,G=23,W=25R=27,4=10,B=0,C=15D=5]
No06=[n(U)=50,n(4 N B)=16,(n(B N A)=n(4d N B))=14]
No07=[N=37,4=20,B=10,C=27,D=12,E=3, F=8]
No08=[A=32,B=18,C=27,D=20,E=19, F=39,G=12]
No09 =[N =700, 4 =443, B=363, C =396, AB=221, BC=221,AC=221,P=15]

Nol0O=[N=580,5=160,4=370,B=150,C=170,D =210, E=120]
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Set02 for No.12720

NoOI =[n(U)=48,n(4)=28,n(B)=20,n(4 N B)=14]
n(U) = 54 n(4)=25 n(B) =27 n(C)=28 }
n(d N B)=14 n(4d n C)=16 n(B N C)=15 n(intersect(4, B, C))=10
No03=[N=66,F=26,V=27,X=13]
No04=[N=117,E=38, M=67,B=44,X=8,Y=20,7Z=23]
No05=[N=33,G=24,W=21,R=17,4=2,B=7,C=14,D=17]
No06=[n(U)=55n(4 N B)=16,(n(B N A)=n(4 N B))=16]
No07=[N=44,4=22,B=25,C=20,D=7,E=11,F=10]
No08=[A=30,B=18,C=39,D=10,E=18, F=24, G=28]
No09 =[N =500, 4 =299, B=299, C=251, 4B =193, BC=133,4C =143, P = 16]

Nol0=[N=570,5=100,4=330,B=180,C=90,D =180, £=160]
):9:9:9.9:0:0:0:9.9.9.9.9:9.9.9.0.0.:0:9.9.9.9.9.9.9.9.0.0:0:0.:9.9.9.9.9.9.9.0.0.0:0.:9.9.9.9.9.0.0.0.0.0:0:9.9.9.9.9.9.9.0.0.0:0:0.9.9.9.9.0.0.0.0.0.0.¢
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Set02 for No.12726

NoOI =[n(U)=39,n(4)=16,n(B)=20,n(4 N B)=17]
n(U) =38 n(4)=21 n(B)=19 n(C) =20 }
(AN B)=10 n(4d n C)=14 n(B n C)=8 n(intersect(4,B,C))=4
No03=[N=77,F=27,V=37,X=12]
No04=[N=118, E=60, M=44, B=66,X=18, Y=38, Z=8]
No05=[N=42,G=28, W=25,R=20,4=0,B=6,C=11,D=5]
No06=[n(U)=47,n(4 N B)=7,(n(B N A)=n(4 N B))=16]
No07=[N=46,4=31,B=29,C=26,D=16,E=16, F=18]
No08=[A=27,B=11,C=16,D=11,E=8,F=26,G=5]
No09 =[N = 600, A =293, B=343, C =373, AB =105, BC =215, AC =215, P = 16]

NolO=[N=720,5=150,4=300,B=30,C=150,D =140, E=350]
)19,9,9:9:9.9.9.0:0:0:9:9.9.9:9.9.9.9.9.0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9:9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0.0:0:9:0.9,9.9.9.9.9.0.0:0:9.9.9.9.9.9.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXME /2-6400102-00030XX

Set02 for No.12758

NoOl =[n(U)=46,1n(4)=30,n(B)=24,n(4 N B)=15]
n(U) =30 n(4)=9 n(B)=13 n(C)=38 }
n(d N B)y=4 n(4dn C)=2 n(B N C)=6 n(intersect(4, B, C))=2
No03=[N=94, F=47,V=43,X=22]
No04=[N=115E=54, M=64, B=58,X=13,Y=28,Z=19]
No05=[N=47,G=29,W=30,R=26,4=1,B=10,C=13,D=10]
No06=[n(U)=51,n(4 N B)=14,(n(B N 4)=n(4 N B))=13]
No07=[N=48,4=30,B=29,C=31,D=17,E=18, F=15]
No08=[A=22,B=13,C=31,D=7,E=16,F=22, G=4]
No09 =[N=600,4=329, B=199, C =301, 4B =133, BC=113,4C=133,P=10]

NolO0=[N=570,5=90,4=160,8=20,C=50,D =130, £ =220]
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No02 :[

No02 :[
n

No02 =[
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Set02 for No.13127

NoOI =[n(U)=37,n(4)=22,n(B)=15,n(4 N B)=8]
n(U) =49 n(A4) =24 n(B) =128 n(C)=26 }

n(4d N B)=13 n(dn C)=14 n(B n C)=16 n(intersect(4,B,C))=28

No03=[N=80,F=45,V=41,X=21]
No04=[N=116,E=44, M=57,B=58,X=12,Y=32,Z=12]
No05=[N=47,G=27,W=25,R=22,4=9,B=8,C=14,D=5]
No06=[n(U)=30,n(4 N B)=10,(n(B N A)=n(4 N B))=5]
No07=[N=45,4=22,B=28,C=31,D=17,E=9,F=19]
No08=[A4=30,B=18,C=34,D=8,E=13,F=16,G=6]
No09 =[N =700, 4 =416, B=346, C =428, AB=218, BC =178, AC =248, P =17]

Nol0=[N=630,5=80,4=370,B=160, C=100,D =190, £=90]
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Set02 for No.13628

NoOI =[n(U)=53,n(4)=29,n(B)=27,n(4 N B)=15]
n(U) =41 n(4)=13 n(B)=23 n(C)=19 }
n(d N B)=10 n(4d n C)=4 n(B n C)=7 n(intersect(4,B,C))=1
No03=[N=74,F=30,V=39,X=19]
No04=[N=138,E=80, M=72,B=66,X=19, Y=35,7Z=18]
No05=[N=47,G=27,W=21,R=28,4=7,B=7,C=8,D=6]
No06=[n(U)=48,n(4 N B)=9,(n(B N A)=n(4 N B))=16]
No07=[N=35,4=17,B=19,C=12,D=2,E=8, F=3]
No08=[A=33,B=13,C=23,D=24,E=12,F=33,G=12]
No09 =[N =500, A = 120, B =250, C =260, AB = 40, BC = 150, AC = 70, P = 8]

NolO=[N=590,5=30,4=220,B=140, C=140,D =140, E=280]
)19,9,9:9:9.9.9.0:0:0:9:9.9.9:9.9.9.9.9.0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9:9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0.0:0:9:0.9,9.9.9.9.9.0.0:0:9.9.9.9.9.9.0.0:¢
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Set02 for No.13652

NoOl =[n(U)=46,n(4)=25,n(B)=23,n(4 N B)=14]
n(U) = 46 n(A4)=23 n(B) =27 n(C)=26 }
n(d N B)=15 n(4d n C)=17 n(B n C)=12 n(intersect(4, B, C))=9
No03=[N=91, F=47, V=49, X=26]
No04=[N=147,E=72,M=69, B=65X=21,Y=38,Z=21]
No05=[N=34,G=21,W=17,R=16,4=5,B=5,C=9,D=2]
No06=[n(U)=43,n(4 N B)=9,(n(B N A)=n(4 N B))=13]
No07=[N=42,4=19,B=23,C=23,D=10,E=3, F=13]
No08=[A4=19,B=15,C=19,D=8,E=9,F=23,G=6]
No09 =[N =600, 4 =284, B=294, C =274, AB = 130, BC = 150, AC = 170, P = 13]

NolO=[N=540,5=40,4=260,8=170,C=40,D="70, E=210]
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Set02 for No.13707

NoOI=[n(U)=41,n(4)=18,n(B)=23,n(4 N B)=8]

n(U) =27 n(A4)=14 n(B)=7 n(C)=7 }

n(d N B)=1 n4d N C)=4 n(B N C)=3 n(intersect(4,B,C))=1
No03=[N=76,F=40,V=35X=13]

No04=[N=124, E=54 M=67,B=55,X=9,Y=32,Z=22]
No05=[N=25G=15,W=18,R=16,4=3,B=4,C=11,D=17]
No06=[n(U)=47,n(4 N B)=16,(n(B N A)=n(4 N B))=8]

No07=[N=25,4=18,B=13,C=16,D=11,E=11,F=9]
No08=[A4=20,B=15C=29,D=8,E=17, F=32,G=5]
No09 =[N =700, 4=271,B=291, C=355,4B =107, BC =157, AC=107, P=5]

NolO0=[N=960,5=130,4 =420, B=260, C=250,D =190, £E=390]
):9:9:9.9:0:0:0:9.9.9.9.9:9.9.9.0.0.:0:9.9.9.9.9.9.9.9.0.0:0:0.:9.9.9.9.9.9.9.0.0.0:0.:9.9.9.9.9.0.0.0.0.0:0:9.9.9.9.9.9.9.0.0.0:0:0.9.9.9.9.0.0.0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXMA/2-6400102-00035XX

Set02 for No.644201

NoOI =[n(U)=33,n(4)=20,n(B)=16,n(4 N B)=9]
n(U) = 44 n(4)=20 n(B)=17 n(C) =30
n(d N B)=10 n(4d n C)=15 n(B n C)=14 n(intersect(4,B,C))=38
No03=[N=67, F=33,V=35X=12]
No04=[N=126,E=82,M=56,B=64,X=19,Y=44, Z=20]
No05=[N=43,G=23,W=27,R=29,4=2,B=10,C=9,D=9]
No06=[n(U)=35,n(4 N B)=6,(n(B N A)=n(4 N B))=10]
No07=[N=30,4=22,B=16,C=19,D=11,E=13, F=11]
No08=[A=16,B=11,C=29,D=11,E=19, F=31,G=28]
No09=[N=300,4=128,B=178, C=133, 4B =62, BC=82, AC=52, P=13]

Nol0=[N=440,5=30,4=210,B=110,C=50,D=110, E=190]
)19,9,9:9:9.9.9.0:0:0:9:9.9.9:9.9.9.9.9.0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9:9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0.0:0:9:0.9,9.9.9.9.9.0.0:0:9.9.9.9.9.9.0.0:¢
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Set02 for No.644202

NoOl =[n(U)=38,n(4)=18,n(B)=21,n(4 n B)=10]
n(U) =28 n(4)=19 n(B)=10 n(C)=17 }
n(d N B)y=8 n(4dn C)=11 n(B N C)=6 n(intersect(4,B,C))=06
No03=[N=88, F=45, V=47, X=24]
No04=[N=106,E=56,M=30,B=66,X=21,Y=44,Z=0]
No05=[N=43,G=21,W=21,R=25,4=5,B=8,C=4,D=1]
No06=[n(U)=43,n(4 N B)=10,(n(B N 4)=n(4 n B))=10]
No07=[N=29,4=16,B=18,C=21,D=12, E=10, F=12]
No08=[A=15,B=6,C=12,D=6,E=7,F=19,G=2]
No09 =[N =500, 4 =249, B=239, C =221, AB =133, BC =153, AC=103, P = 16]

Nol0=[N=510,5=100,4=190,B8=180,C=80,D=90,E£=160]
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Set02 for No.644203

NoOI =[n(U)=46,n(4)=24,n(B)=28,n(4 N B)=14]
n(U) =31 n(4d)=17 n(B) =19 n(C)=12 }
(AN B)y=11 n(4dn C)=8 n(B N C)=8 n(intersect(4,B,C))=4
No03=[N=76,F=29,V=36X=13]
No04=[N=126,E=68, M=67,B=81,X=13,Y=35,7Z=13]
No05=[N=29,G=21,W=16,R=15,4=3,B=5,C=11,D=17]
No06=[n(U)=46,n(4 N B)=15,(n(B N 4)=n(4 N B))=10]
No07=[N=35,4=21,B=18,C=30,D=19, E=10, F=15]
No08=[A=26,B=9,C=16,D=12, E=8,F=30,G=1]
No09 =[N = 600, A =318, B=288, C =392, AB = 100, BC = 200, AC =200, P = 11]

Nol0=[N=970,5=120,4 =520, B=250, C=310,D =280, £ =340]
):9:9:9.9:0:0:0:9.9.9.9.9:9.9.9.0.0.:0:9.9.9.9.9.9.9.9.0.0:0:0.:9.9.9.9.9.9.9.0.0.0:0.:9.9.9.9.9.0.0.0.0.0:0:9.9.9.9.9.9.9.0.0.0:0:0.9.9.9.9.0.0.0.0.0.0.¢
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Set02 for No.644204

NoOI =[n(U)=35,n(4)=14,n(B)=15,n(4 N B)=6]
n(U) =53 n(A4)=26 n(B)=31 n(C) =28 }
n(d n B)=19 n(4d n C)=16 n(B n C)=17 n(intersect(4, B, C))=10
No03=[N=60,F=31,V=34X=19]
No04=[N=137,E=65 M=80,B=56,X=21,Y=16,Z=17]
No05=[N=46,G=32,W=25R=24A4=8B=4,C=19,D=10]
No06=[n(U)=26,n(4 N B)=9,(n(B N A)=n(4d N B))=5]
No07=[N=49, 4=34,B=34,C=27,D=18, E=20, F= 18]
No08=[A=23,B=12,C=17,D=10,E=9, F=25,G=4]
No09 =[N =600, 4 =321, B=321, C=383, 4B =147, BC=187,AC=187, P=15]

Nol0=[N=660,5=70,4=280,B=90,C=110,D =100, E=280]
)19,9,9:9:9.9.9.0:0:0:9:9.9.9:9.9.9.9.9.0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9:9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0.0:0:9:0.9,9.9.9.9.9.0.0:0:9.9.9.9.9.9.0.0:¢
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Set02 for No.644205

NoOI =[n(U)=42,n(4)=16,n(B)=20,n(4 N B)=9]
n(U) = 34 n(4)=16 n(B) =21 n(C) =23 }
(AN B)y=8 n4dn C)=11 n(B N C)=15 n(intersect(4, B, C))=6
No03=[N=81,F=29, V=45, X=18]
No04=[N=108,E=65M=67,B=55X=10,Y=16,Z=17]
No05=[N=26,G=15,W=12,R=14,4=4,B=2,C=5D=0]
No06=[n(U)=30,n(4 N B)=7,(n(B N A)=n(4 N B))=6]
No07=[N=50,4=32,B=27,C=34,D=17,E=18, F=17]
No08=[A=17,B=11,C=30,D=7,E=13,F=26,G=5]
No09 =[N =500,4=218, B=358, C=292, AB=176, BC =196, AC =86, P = 16]

Nol0=[N=2870,5=140,4 =560, B=290, C=260,D =290, F=140]
X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXKXXKXXKKKKXKXKXKXKK

No02 :[
n

No02 :[

No02 =[
n



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXKXMA /2-6400102-00040XX
Set02 for No.644206

NoOI =[n(U)=38,n(4)=19,n(B)=20,n(4 N B)=8]
n(U) =50 n(A4)=29 n(B) =27 n(C)=28 }
n(4d N B)=17 n(d n C)=16 n(B N C)=14 n(intersect(4,B,C))=9
No03=[N=53,F=29,V=25X=12]
No04=[N=100,E=53, M=39, B=44,X=8,Y=34,Z=13]
No05=[N=43,G=20,W=25R=354=7,B=7,C=9,D=9]
No06=[n(U)=43,n(4 N B)=6,(n(B N A)=n(4 N B))=15]
No07=[N=47,4=20,B=32,C=29,D=12,E=12, F=19]
No08=[A=13,B=4,C=16,D=6,E=6,F=18,G=3]
No09 =[N =500, 4 =165, B=245, C =205, AB =45, BC = 125, AC = 65, P = 8]

NolO0=[N=630,5=160,4=230,B=140,C=150,D =280, £=260]
):9:9:9.9:0:0:0:9.9.9.9.9:9.9.9.0.0.:0:9.9.9.9.9.9.9.9.0.0:0:0.:9.9.9.9.9.9.9.0.0.0:0.:9.9.9.9.9.0.0.0.0.0:0:9.9.9.9.9.9.9.0.0.0:0:0.9.9.9.9.0.0.0.0.0.0.¢
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Set02 for No.644207

NoOI =[n(U)=38,n(4)=24,n(B)=18,n(4 N B)=13]
n(U) =50 n(4)=29 n(B) =22 n(C)=24 }
n(d N B)=17 n(4d n C)=14 n(B n C)=10 n(intersect(4,B,C))=7
No03=[N=66,F=23,V=36X=11]
No04=[N=118, E=49, M=63,B=70,X=0,Y=35Z=13]
No0O5=[N=44,G=27,W=27,R=25,A=4,B=3,C=14,D=5]
No06=[n(U)=44,n(4 N B)=6,(n(B N A)=n(4 N B))=15]
No07=[N=42,4=23,B=24,C=23,D=13,E=12, F=6]
No08=[A=18,B=13,C=30,D=13, E=13,F=30,G=28]
No09 =[N = 600, A = 305, B=325, C =429, AB = 175, BC = 205, AC = 235, P = 20]

Nol0=[N=590,5=140,4=210,B=50,C=140,D =60, E=310]
)19,9,9:9:9.9.9.0:0:0:9:9.9.9:9.9.9.9.9.0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9:9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0.0:0:9:0.9,9.9.9.9.9.0.0:0:9.9.9.9.9.9.0.0:¢
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Set02 for No.644208

NoOl =[n(U)=43,n(4)=24,n(B)=20,n(4 N B)=12]
n(U) =23 n(4)=12 n(B)=7 n(C)=16 }
n(d N B)=3 n(4dn C)=8 n(B N C)=3 n(intersect(4, B, C))=0
No03=[N=69, F=41, V=39, X=22]
No04=[N=96,E=46, M=51,B=49, X=0,Y=28,Z=16]
No05=[N=39,G=23,W=18,R=26,4=9,B=1,C=11,D=9]
No06=[n(U)=40,n(4 N B)=13,(n(B N 4)=n(4 N B))=9]
No07=[N=51,4=35,B=33,C=24,D=16,E=18, F=16]
No08=[A=17,B=10,C=24,D=4,E=12,F=16,G=4]
No09 =[N=400,4 =143, B=213,C=197, AB=121,BC=T71,AC=61, P=15]

Nol0=[N=620,5=120,4=200,8=10,C=150,D =60, E£=300]
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Set02 for No.644209

NoOI =[n(U)=37,n(4)=12,n(B)=21,n(4 N B)=6]
n(U) =35 n(4)=18 n(B)=12 n(C)=16 }
n(d N B)y=4 n4dn C)=9 n(B N C)=1 n(intersect(4,B,C))=0
No03 =[N=85,F=46, V=38 X=23]
No04=[N=120,E=53, M=64,B=60,X=7,Y=32,Z=13]
No05=[N=39,G=19,W=22,R=28,4=6,B=6,C=8,D=6]
No06=[n(U)=58,n(4 N B)=16,(n(B N 4)=n(4 N B))=14]
No07=[N=49,4=29,B=31,C=27,D=15E=15 F=13]
No08=[A=19,B=12,C=21,D=12,E=9,F=15,G=6]
No09 =[N = 600, A =248, B =148, C =358, AB =20, BC = 100, AC = 130, P=1]

Nol0=[N=950,5=160,4 =400, B=290, C=150,D =240, E=290]
):9:9:9.9:0:0:0:9.9.9.9.9:9.9.9.0.0.:0:9.9.9.9.9.9.9.9.0.0:0:0.:9.9.9.9.9.9.9.0.0.0:0.:9.9.9.9.9.0.0.0.0.0:0:9.9.9.9.9.9.9.0.0.0:0:0.9.9.9.9.0.0.0.0.0.0.¢
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Set02 for No.644210

NoOI =[n(U)=41,n(4)=21,n(B)=17,n(4 N B)=6]
n(U) =46 n(4)=15 n(B)=29 n(C) =24 }
n(d n B)=12 n(4d n C)=10 n(B n C)=18 n(intersect(4, B, C))=10
No03=[N=79, F=41,V=47,X=20]
No04=[N=104, E=56, M=61,B=47,X=10,Y=15,Z=15]
No05=[N=25,G=13,W=16,R=16,4=6,B=2,C=10,D=3]
No06=[n(U)=39,n(4 N B)=13,(n(B N A)=n(4 N B))=9]
No07=[N=49,4=25,B=27,C=34,D=20,E=10, F=17]
No08=[A=33,B=14,C=27,D=16,E=11,F=35,G=4]
No09 =[N =500, A =270, B =230, C = 180, AB = 150, BC = 80, AC = 100, P = 12]

NolO=[N=460,5=40,4=210,B=140,C=60,D =130, E=80]
)19,9,9:9:9.9.9.0:0:0:9:9.9.9:9.9.9.9.9.0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9:9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0.0:0:9:0.9,9.9.9.9.9.0.0:0:9.9.9.9.9.9.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXME /2-6400102-00045XX

Set02 for No.644211

NoOl =[n(U)=38,n(4)=21,n(B)=20,n(4 N B)=12]
n(U) =48 n(A4)=22 n(B) =33 n(C)=25 }
n(d N B)=14 n(4d n C)=12 n(B n C)=17 n(intersect(4,B,C))=38
No03=[N=79, F=44, V=45, X=21]
No04=[N=121,E=55,M=62,B=57,X=16,Y=21,Z=16]
No05=[N=32,G=15,W=25,R=17,4=4,B=9,C=12,D=9]
No06=[n(U)=47,n(4 N B)=10,(n(B N 4)=n(4 N B))=13]
No07=[N=43,4=18,B=31,C=27,D=12,E=11, F=17]
No08=[A=37,B=20,C=31,D=17,E=18, F=36, G =8]
No09 =[N =600, 4 =293, B=353,C=387, AB=161,BC=211,4C= 181, P=15]

Nol0O=[N=620,5=10,4=330,B=200,C=70,D =200, E£=250]
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Set02 for No.644212

NoOI =[n(U)=37,n(4)=21,n(B)=26,n(4 N B)=15]
n(U) =32 n(A4)=22 n(B) =14 n(C)=17 }
n(4d N B)=9 n(4d N C)=10 n(B n C)=8 n(intersect(4,B,C))=4
No03=[N=79, F=28,V=41,X=17]
No04=[N=91,E=54,M=40,B=39,X=8,Y=32,Z=17]
No05=[N=28,G=10,W=13,R=20,4=8,B=3,C=3,D=2]
No06=[n(U)=49,n(4 N B)=17,(n(B N 4)=n(4 N B))=12]
No07=[N=39,4=26,B=21,C=17,D=9, E=14, F=9]
No08=[A=17,B=13,C=18,D=7,E=11,F=18,G=17]
No09 =[N =500, 4 =214, B=274, C =226, AB =108, BC = 138, AC = 58, P=4]

Nol0=[N=630,5=150,4=270,B=180,C=50,D=140, E=170]
):9:9:9.9:0:0:0:9.9.9.9.9:9.9.9.0.0.:0:9.9.9.9.9.9.9.9.0.0:0:0.:9.9.9.9.9.9.9.0.0.0:0.:9.9.9.9.9.0.0.0.0.0:0:9.9.9.9.9.9.9.0.0.0:0:0.9.9.9.9.0.0.0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXMA/2-6400102-00047XX

Set02 for No.644213

NoOI =[n(U)=54,n(4)=27,0(B)=26,n(4 N B)=12]
n(U) =27 n(4)=11 n(B)=11 n(C)=12 }
(AN B)y=4 n(4dn C)=4 n(Bn C)=10 n(intersect(4,B,C))=3
No03=[N=88, F=38, V=50, X=26]
No04=[N=103,E=52, M=65,B=40,X=8,Y=10,Z=22]
No05=[N=22,G=15,W=10,R=14,4=3,B=1,C=6,D=6]
No06=[n(U)=37,n(4 N B)=12,(n(B N 4)=n(4 N B))=10]
No07=[N=42,4=28,B=25,C=26,D=16,E=15 F=12]
No08=[A=22,B=16,C=32,D=5E=17,F=23,G=5]
No09 = [N = 600, A = 286, B =326, C =356, AB = 104, BC = 154, AC = 164, P = 8]

NolO=[N=660,5=30,4=320,B=70,C=170,D =100, E=370]
)19,9,9:9:9.9.9.0:0:0:9:9.9.9:9.9.9.9.9.0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9:9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0.0:0:9:0.9,9.9.9.9.9.0.0:0:9.9.9.9.9.9.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXME /2-6400102-00048XX

Set02 for No.644214

NoOl =[n(U)=36,n(4)=21,n(B)=22,n(4 N B)=13]
n(U) =32 n(A4)=8 n(B)=15 n(C)=12 }
n(d N B)y=5 n(4dn C)=1 n(B N C)=5 n(intersect(4, B, C))=0
No03=[N=85 F=45 V=46 X=22]
No04=[N=104, E=50,M=58, B=55X=8,Y=23,7Z=14]
No05=[N=23,G=14,W=13,R=7,4=2,B=5,C=6,D=0]
No06=[n(U)=49,n(4 N B)=8,(n(B N A)=n(4 N B))=12]
No07=[N=42,4=24,B=23,C=24,D=11,E=10, F=11]
No08=[A=30,B=18,C=40,D=19, E=22, F=36,G=11]
No09 =[N =800, 4 =415, B=445,C =375, AB =215, BC =205, AC=215,P=10]

Nol0=[N=950,5=160,4 =460, B=250,C=260,D =150, E=350]
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Set02 for No.644215

NoOI =[n(U)=41,n(4)=23,n(B)=27,n(4 N B)=14]
n(U) =65 n(A4) =34 n(B) =37 n(C)=37 }
n(4d N B)=18 n(4d n C)=18 n(B n C)=18 n(intersect(4,B,C))=9
No03=[N=79, F=43, V=44, X=23]
No04=[N=117,E=55M=58,B=64,X=11,Y=28,Z=14]
No05=[N=43,G=27,W=26,R=26,A=4,B=3,C=14,D=8]
No06=[n(U)=23,n(4 N B)=6,(n(B N A)=n(4 n B))=5]
No07=[N=38,4=23,B=28,C=22,D=13,E=16, F=15]
No08=[A=21,B=4,C=26,D=9,E=13,F=21,G=1]
No09 =[N =600, 4 =162, B=332, C =286, AB =116, BC =136, AC =36, P=3]

NolO0=[N=600,5=130,4=320,B=70,C=140,D =130, £E=180]
):9:9:9.9:0:0:0:9.9.9.9.9:9.9.9.0.0.:0:9.9.9.9.9.9.9.9.0.0:0:0.:9.9.9.9.9.9.9.0.0.0:0.:9.9.9.9.9.0.0.0.0.0:0:9.9.9.9.9.9.9.0.0.0:0:0.9.9.9.9.0.0.0.0.0.0.¢
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Set02 for No.644216

NoOI =[n(U)=41,n(4)=18,n(B)=21,n(4 N B)=13]
n(U) =42 n(4)=22 n(B) =26 n(C)=19 }
(AN B)y=11 n(dn C)=7 n(BnNn C)=12 n(intersect(4,B,C))=5
No03=[N=76,F=40, V=38 X=23]
No04=[N=110,E=52, M=38,B=70,X=20,Y=45,Z=0]
No05=[N=38,G=27,W=17,R=24,4=7,B=4,C=13,D=9]
No06=[n(U)=44,n(4 N B)=7,(n(B N A)=n(4 N B))=11]
No07=[N=25,4=12,B=20,C=13,D=4,E=9, F=9]
No08=[A=16,B=14,C=30,D=11,E=16,F=28,G=9]
No09 =[N = 600, A = 365, B=305, C =337, AB =245, BC = 175, AC =155, P = 20]

NolO=[N=630,5=100,4=310,B=90,C=130,D =150, E=190]
)19,9,9:9:9.9.9.0:0:0:9:9.9.9:9.9.9.9.9.0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9:9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0.0:0:9:0.9,9.9.9.9.9.0.0:0:9.9.9.9.9.9.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXME /2-6400102-00051XX

Set02 for No.644217

NoOl =[n(U)=33,n(4)=18,n(B)=19,n(4 n B)=10]
n(U) =41 n(4)=18 n(B) =12 n(C)=26 }
n(d N B)y=7 n(4dn C)=13 n(B N C)=9 n(intersect(4,B,C))=5
No03=[N=69, F=32, V=29, X=15]
No04=[N=116,E=48, M=66,B=41,X=16,Y=11,Z=15]
No05=[N=29,G=12,W=17,R=19,4=5,B=5,C=5D=3]
No06=[n(U)=32,n(4 N B)=12,(n(B N 4)=n(4 N B))=6]
No07=[N=30,4=20,B=16,C=14,D=7,E=13, F=4]
No08=[A=34,B=18,C=24,D=19, E=16,F=36,G=11]
No09 =[N =700, 4 =270, B=420, C =381, 4B = 190, BC = 230, AC = 140, P = 15]

NolO=[N=450,5=110,4=170,B=130,C=90,D =130, E=110]
X [Page = 0017] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXKXKXXKXXKKKKXKXKXKXKK

No02 :[

No02 :[
n

No02 ={



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXKXKXXKXKXMA/2-6400102-00052XX

Set02 for No.644218
No0OI =[n(U)=29,n(4)=18,n(B)=13,n(4 N B)=7]

N 02_[ n(U)=41  n(4)=19  n(B)=13 n(C)=22 }
2= 04 A BY=6 n(4 A C)=9 n(B A C)=8 n(interscct(4, B, C)) = 4

No03=[N=289, F=48, V=43, X=23]
No04=[N=107,E=71,M=69,B=52,X=9,Y=20,Z=19]
No0O5=[N=41,G=22, W=28, R=27,A=7,B=3,C=16,D=10]
No06=[n(U)=27,0(4 n B)=8,(n(B " A)=n(4 N B))=5]
No07=[N=31,4=15B=19,C=17,D=10,E=7,F=9]
No08=[A4=30,B=12,C=15D=19, E=8,F=23,G=17]

No09 =[N =500, 4 =278, B=278, C=282, AB =176, BC =166, AC =176, P=20]

NolO=[N=1010,S=130,4 =520, B=250, C=240,D =290, E =350]
POO GGG 00000000 GGG G000 0:0:00:00.0:0:0:0.0:0:0:0:0:0:0:6:0::0:0:0:0:6:4
X Math@MUT XXXXXXXXXXXXXXXXXXHXXKXXXXKXXKXXXXKKXKKXKXKKKKKMA /2-6400102-00053XX

Set02 for No.644219
NoOI =[n(U)=49,n(4)=29,n(B)=23,n(4 N B)=14]

NOZ—[ n(U) =47 n(4) =19 n(B)=22 n(C) =20 }
o n(d n B)=10 n(4d n C)=4 n(B n C)=10 n(intersect(4,B,C))=0

No03=[N=68, F=31,V=29,X=12]
No04=[N=126,E=50,M=58,B=68,X=13,Y=38,Z=7]
No05=[N=34,G=21,W=21,R=22,4=4,B=8,C=12,D=8]
No06=[n(U)=44,n(4 N B)=9,(n(B N A)=n(4 N B))=15]
No07=[N=44,4=23,B=31,C=21,D=7,E=14, F=15]
No08=[A=16,B=10,C=25,D=9,E=7,F=20,G=3]

No09 =[N =600, A =255, B=405, C =265, AB=169, BC=199, AC=119, P = 16]

NolO0=[N=610,5=110,4 =240, B=120, C=120,D =140, E=260]
P 0:00:0:0:0:0:0:0:0:0:0:0:0.0:0.0:0:0:0:0:0:0.0:00:0:0.0:0.0:0.0:0:0:0:0.0:0.0:0:0:0:0.0:0.0.0.0:0:0.0:0.0.0.0:0:0:0:0.0:0.0.0:0.0:0.0:0.0.0.0:¢:0.¢
X Math@MUT XXXXXXXXXXXXKXXXXXXKXKXXKXKXKXKKXKXKXKKKKXKKMAE/2-6400102-00054%X

Set02 for No.644220
NoOI =[n(U)=37,n(4)=14,n(B)=20,n(4 N B)=5]

NOZ—[ n(U)=17 n(4)=9 n(B)=12 n(C)=7 }
ove= n(d N B)y=7 n(4dn C)=2 n(B N C)=6 n(intersect(4, B, C))=2

No03=[N=89, F=40, V=48, X=23]
No04=[N=122,E=46, M=69, B=55X=8,Y=25,7Z=22]
No05=[N=42,G=32,W=23,R=18,4=1,B=9,C=14,D=9]
No06=[n(U)=53,n(4 N B)=13,(n(B N 4)=n(4 N B))=16]
No07=[N=55,4=29,B=34,C=31,D=11,E=18, F=18]
No08=[A=19,B=16,C=27,D=12,E=21, F=32,G=12]

No09 =[N =600, 4 =300, B =290, C =210, 4B = 130, BC = 100, AC = 120, P = 10]
Nol0=[N=590,S8=90,4=320,B=230,C=140,D =90, E=160]

X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKKXKKXXXKKKKKK
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Set02 for No.644221
NoOI =[n(U)=45,n(4)=17,n(B)=20,n(4 N B)=7]

N02_|: n(U) =45 n(4)=27 n(B)=15 n(C)=19 :'
%“Zln(4 A B)=7 n(4dn C)=10 n(B n C)=3 n(intersect(4, B, C))=0

No03=[N=70,F=32, V=40, X=16]
No0O4=[N=101,E=49, M=57,B="54,X=10,Y=24,Z=10]
No05=[N=28,G=12,W=20,R=17,4=6,B=7,C=10,D =8]
No06=[n(U)=45,n(4 N B)=9,(n(B n 4)=n(4 n B))=15]
No07=[N=36,4=13,B=25,C=20,D=4,E=8, F=11]
No08=[A=32,B=21,C=39,D=12,E=18, F=27,G=12]

No09 =[N =600, 4 =298, B=368, C=318, AB = 180, BC = 130, AC=170, P=11]

NolO=[N=650,5=10,4=360,B=130, C=240,D =190, E =360]
POO GGG 00000000 GGG G000 0:0:00:00.0:0:0:0.0:0:0:0:0:0:0:6:0::0:0:0:0:6:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXKXKKXXXXKKXKKXKXKKKKKMA /2-6400102-00056XX

Set02 for No.644222
NoOI =[n(U)=33,n(4)=12,n(B)=17,n(4 N B)=5]

NOZ—[ n(U)=48  n(4)=20 n(B) =19 n(C) =26 }
oves n(d N B)y=6 n(4d N C)=8 n(B n C)=12 n(intersect(4, B, C))=3

No03=[N=81,F=44, V=50, X=24]
No04=[N=110,E=72, M=44, B=61,X=22,Y=29,Z=12]
No05=[N=19,G=11,W=11,R=9,4=0,B=2,C=3,D=1]

No06=[n(U)=38,n(4d N B)=14,(n(B N A)=n(4 N B))=5]
No07=[N=44,4=25,B=22,C=25,D=8,E=10,F=11]
No08=[A=17,B=11,C=26,D=11,E=13,F=18,G=6]

No09 =[N =500, A =190, B =220, C =180, AB = 90, BC = 100, AC = 60, P = 12]

Nol0=[N=930,5=80,4=490,B=180,C=180,D =190, E=420]
PO GO GOV 0:00:0 00000000 :00:00:0. 000 006:06:0::0.0:00:0. 0.0 0:06:0:6:0:0:0:0:0.0:0.0:0:0:6:0:6:06:0:0:0:0:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXKXKXKXKKKXKKXKMA/2-6400102-00057XX

Set02 for No.644223
NoOI =[n(U)=35,n(4)=24,n(B)=15,n(4 N B)=9]

NOZ_[ n(U) =38 n(4) =16 n(B) =17 n(C)=22 }
e n(d N B)=7 n(dn C)=10 n(B n C)=12 n(intersect(4, B, C))=4

No03=[N=84, F=34, V=47, X=23]
No04=[N=136,E=63,M=75B=65X=23,Y=252=16]
No05=[N=45,G=21,W=25R=28,4=8B=7,C=9,D=28]
No06=[n(U)=36,n(4 N B)=11,(n(B N 4)=n(4 N B))=9]
No07=[N=31,4=10,B=20,C=22,D=6,E=7, F=12]
No08=[A=38,B=20,C=39,D=15E=18,F=31,G=9]
No09=[N=400,4 =153, B=133,C=167, AB=53,BC=43, AC=53,P=2]
Nol0=[N=530,S=60,4=190,B=120, C=150,D =140, £ =180]
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Set02 for No.644224

NoOI =[n(U)=38,n(4)=17,n(B)=21,n(4 N B)=8]
n(U) =48 n(4)=25 n(B) =21 n(C)=28 }
n(d N B)=11 n(4dn C)=14 n(B n C)=18 n(intersect(4,B,C))=10
No03=[N=78,F=36,V=27,X=12]
No04=[N=105E=45M=51,B=62,X=0,Y=37,Z=12]
No05=[N=38,G=22,W=24, R=24 4=5B=3,C=13,D=4]
No06=[n(U)=42,n(4 N B)=17,(n(B N A)=n(4 N B))=8]
No07=[N=50,4=26,B=28,C=24,D=10,E=13,F=11]
No08=[A=34,B=18,C=22,D=16,E=12, F=30,G=28]
No09 =[N =600, 4 =342, B=312, C=252, AB =194, BC = 144, AC = 184, P = 20]

NolO0=[N=710,5=100,4 =350, B=260, C=190,D =120, £ =260]
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Set02 for No.644225

NoOI =[n(U)=37,n(4)=20,n(B)=12,n(4 N B)=17]
n(U) = 41 n(4)=21 n(B) =20 n(C)=23 }
n(d N B)=10 n(4d n C)=12 n(B n C)=18 n(intersect(4, B, C))=10
No03=[N=89, F=47, V=42, X=21]
No04=[N=95E=55M=55B=42,X=13,Y=20,Z=20]
No05=[N=40,G=12,W=29,R=28,4=10,B=8,C=11,D=8]
No06=[n(U)=54,n(4 N B)=9,(n(B N A)=n(4 N B))=16]
No07=[N=37,4=25,B=23,C=24,D=17,E=16,F=11]
No08=[A=17,B=9,C=17,D=14,E=11,F=31,G=6]
No09 =[N =500, 4=169, B=239, C=261,4B=73,BC=113,4C=73,P=6]

Nol0=[N=2830,5=110,4=510,B=300, C=290, D=200, E=220]
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Set02 for No.644226

NoOI =[n(U)=37,n(4)=20,n(B)=14,n(4 N B)=9]
n(U) =32 n(4)=20 n(B) =14 n(C)=18 }
n(d N B)y=6 n(4dn C)=11 n(B N C)=4 n(intersect(4,B,C))=1
No03 =[N=66, F=30, V=35,X=18]
No04=[N=105E=36,M=52,B=43,X=17,Y=19,Z=9]
No05=[N=37,G=20,W=23,R=22,4=3,B=6,C=9,D=28]
No06=[n(U)=41,n(4 N B)=12,(n(B N 4)=n(4 N B))=9]
No07=[N=46,4=25,B=29,C=21,D=5,E=14, F=14]
No08=[A=17,B=8,C=17,D=12,E=8,F=25,G=5]
No09 =[N =600, 4 =274, B=1304, C =324, AB =200, BC = 170, AC = 130, P = 13]

NolO=[N=720,5=60,4=310,8=180,C=220,D=170,E=310]
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NoOI =[n(U)=40,n(4)=21,n(B)=19,n(4 N B)=8]
n(U) =53 n(4)=29 n(B) =21 n(C)=28 }
n(d N B)=9 n4d N C)=16 n(B n C)=12 n(intersect(4,B,C))=06
No03=[N=91, F=42,V=47,X=20]
No04=[N=103,E=50,M=67,B=40,X=7,Y=9,Z=14]
No05=[N=29,G=11,W=19,R=17,4=4,B=6,C=5D=1]
No06=[n(U)=41,n(4 N B)=12,(n(B N A)=n(4 N B))=9]
No07=[N=36,4=29,B=17,C=22,D=17,E=11,F=11]
No08=[A=24,B=10,C=13,D=16,E=8,F=24,G=17]
No09 =[N =700, A =334, B=324, C =386, AB =154, BC =184, AC=174, P=1]

Nol0=[N=580,5=50,4=270,B=110,C=170,D =90, E=280]
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Set02 for No.644228

NoOI =[n(U)=38,n(4)=18,n(B)=14,n(4 N B)=17]
n(U) = 41 n(4)=21 n(B) =18 n(C)=19 }
(AN B)y=8 nd4dn C)=13 n(B N C)=9 n(intersect(4,B,C))=3
No03=[N=67,F=35,V=24 X=11]
No04=[N=112,E=43, M=78,B=44,X=9,Y=9,Z=21]
No05=[N=49, G=28, W=26,R=28,4=5,B=9,C=10,D=8]
No06=[n(U)=53,n(4 N B)=16,(n(B N A)=n(4 N B))=16]
No07=[N=46,4=29,B=24,C=31,D=18, E=11, F=18]
No08=[A=38,B=19,C=22,D=21,E=11,F=28,G=9]
No09 =[N =700, 4 =402, B=412, C =347, AB = 200, BC = 220, AC = 160, P = 12]

NolO=[N=750,5=140,4=430,B=260, C=180,D =270, E=160]
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Set02 for No.644229

NoOI =[n(U)=37,n(4)=11,n(B)=18,n(4 N B)=6]
n(U) =47 n(A4)=25 n(B) =22 n(C)=26 }
n(d N B)=14 nd n C)=11 n(B n C)=10 n(intersect(4, B, C))=5
No03=[N=67,F=38,V=36,X=19]
No04=[N=116,E=63,M=69,B=39,X=21,Y=9,Z=16]
No05=[N=32,G=22,W=21,R=7,4=0,B=8,C=11,D=3]
No06=[n(U)=62,n(4 N B)=15,(n(B N A)=n(4 N B))=16]
No07=[N=36,4=21,B=20,C=17,D=7,E=7,F=11]
No08=[A=33,B=10,C=16,D=15E=8,F=32,G=3]
No09 =[N =700, 4 =323, B=403, C =446, AB=211, BC=231,AC=191, P=15]

NolO=[N=500,5=20,4=200,B8=110,C=120,D =130, £ =250]
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NoOI =[n(U)=40,n(4)=18,n(B)=21,n(4 N B)=10]
n(U) =50 n(4) =31 n(B) =26 n(C)=32 }
n(d N B)y=14 n4dn C)=19 n(B n C)=19 n(intersect(4,B,C))=9
No03=[N=63, F=35,V=28 X=13]
No04=[N=125,E=70, M=58,B=67,X=18,Y=30,Z=21]
No05=[N=28,G=13,W=21,R=13,4=3,B=5,C=9,D=0]
No06=[n(U)=35,n(4 N B)=15(n(B N A)=n(4 N B))=6]
No07=[N=46,4=26,B=26,C=31,D=15E=14, F=13]
No08=[A=29,B=14,C=18,D=17,E=6,F=27,G=6]
No09 =[N =700, A =309, B=409, C =423, AB =169, BC =249, AC=219, P =17]

NolO=[N=680,5=110,4=180,B=50,C=10,D =140, £=250]
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